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3) EAMH 95 ()
Telteer ATt - gRae TR Wteitg amfor =i yyfaet

Y) Teee i - gRaTe gRumEme Wieig anfor fAdm=h i
IRATT TGHUT HH! RugTa gRul fae o adf FieRuan il ?

9) 9883 R) 9384 3) 98%¢ 8) 9388
In which year was the Policy Statement for Abatement of Pollution adopted in India ?
1) 1992 2) 1995 3) 1998 4) 1999

HERT THYT R HEw HUTd Welelid! DU Siaria T HRudd 3fTer:

q) aresTeraTelt (g Hfcrder anfor Friwr) Sif¥fEm, 99¢a T @ §

Q) ameperaroht (vgyur Hfcrder anfor fRir) Sif¥fFEH, 93¢ o @ 2

3) STeT (WeuYT ufcae amfor i) srferf g™, aqus o e Y

g) STel (MU Hfcreer ooy f2=on) SifdifR, aQuy o & 3

The Central Pollution Control Board was for the first time constituted under which of the following:
1) Section 9 of THE AIR (PREVENTION AND CONTROL OF POLLUTION) ACT, 1981

2) Section 2 of THE AIR (PREVENTION AND CONTROL OF POLLUTION) ACT, 1981s

3) Section 5 of THE WATER (PREVENTION AND CONTROL OF POLLUTION) ACT, 1974
4) Section 3 of THE WATER (PREVENTION AND CONTROL OF POLLUTION) ACT, 1974

IS FHH! FRUITAIS] TSI ATIR AGAUITAT BRIHATET HIT FgUT Gae xg AlG 1 99 I
3MOT eI Teameiel Fas® U quier geietud! il Afg=ard 0 <& gaHIal i3 uget
30T ?

9) geR 03 Q) &R 2020 3) STHARY 2023 8) T 2033

In which of the following months did PM Narendra Modi roll out petrol blended with 20 per cent

ethanol at select petrol pumps in 11 states and union territories as part of a programme to increase
the use of biofuels to cut emissions ?

1) November 2022  2) December 2022 3) January 2023 4) February 2023
SISRIEEEIE

P NHTFATSS STHATT TH (%)

37) HICR arg )2y

) fome 1) R.9

®) 3irenfie ufsha I) R.¢

) it PHRT ST IV) £0.9
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T SR :
dJ 9 w 5
) IV I I I
) IV I I 1T
3) 1 o m v
g) I IV 1 1T
Match the following :
Source of Carbon Monoxide Percentage (%)
a. Motor vehicle I.25
b. Aircraft II. 81
c. Industrial process 11.9.8
d. Agricultural waste burn IV.60.1
Answer Options :
a b ¢ d
) Iv I 1II II
2) Vv I 1 I
3) 1 on m v
4) I vV 1 I
SISAT TSl 3TSC 09 TT IEATATAR, IR 8T ST ....oo e CO, SR PRURT Hfet HiST
Q9T 3R,
9) ufgel Q) W 3) dter g) R
Indiais the .............. largest emitter of CO, in the world, as per the India Energy Outlook 2021
report.
1) first 2) second 3) fourth 4) third

'S FATHC IR 91 3T dIgee Uscd e’ a1 efisarean R 2039 T SEATATINR,
Rieg~T Toibe b gsa<7 (CCRI) AIGR BRAMI, €3 (BT QU TR PIOTT FAHTER 37Tg ?
9) *3ar Q) *wdr 3) yar ) Qear

As per UNICEF's 2021 repor titled "The Climate Crisis Is a Child Rights Crisis'. Introducing the
Children's Climate Risk Index" (CCRI), India ranked at which position out of 163 ranked countries?
1) 23rd 2) 24th 3) 25th 4) 26th

TR Beepial JHIUIAR AR Rl IR SHHAR DIORAT IRET T 37 3MTE ?

9) 3fifaaeH, RIS, 3T, s Q) JNifRASH, TRIGISH, 3Nsi, 3

3) ARICIoH, e, 3NsiH, TR Q) TRICISH, Jifaae, R, 3N

Which group of gases is correct in descending order considering the proportion of atmosphere
elements ?

1) Oxygen, Nitrogen, Argon, Ozone 2) Oxygen, Nitrogen, Ozone, Argon

3) Nitrogen, Oxygen, Ozone, Argon 4) Nitrogen, Oxygen, Argon, Ozone

TE 9 g 1C & GAURISRITS! Sugeh Teaug : uRfRufrdT, Sta-fafdear snfor gamm aqa / v
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gl DIV BTTeh! TGHD SIS TE el ?

37) P SINTATSS ) FARIFGRIDBIE

®) PET AFGATSS g) Ao SRITSS

gift S :

q) Wk 3 Q) Bk § 3) o 3Mftr & 8) Bth @
Which is the dangerous pollutant of air that destroys Ozone ?

A) Carbon dioxide B) Chlorofluorocarbon

C) Carbon monoxide D) Sulphur dioxide

Answer options :

1) Only A 2)Only B 3)Aand C 4) Only C

IeE TR piferc! RAId 2029 T UeIfr detedT SR, TR WIeiefid! PIvN 2R AT are
et Hafferes Tt goeam Al oTe ?

9) eI ?) Rt 3) PR ¥) 99
As per the report published by World Air Quality Report 2021, which of the following cities of

India is listed with the most polluted air for the fourth consecutive year ?
1) Kolkata 2) Delhi 3) Kanpur 4) Mumbai

fSHeR 03 ALY, F:T A e HeF T HRUTR. WSHIeTih!. DIV TR Gfgel I g+t ?
9) TfETTg ?) ToRwd 3) TRy ¥) fegh

Which of the following became the first state in India to launch its own Climate Change Mission,
in December 20227

1) Tamil Nadu 2) Gujarat 3) Maharashtra 4) Delhi

fSHeR 203 ALY M AT FATHC e SEATHE TSR HBTeda TR PioNT HaeHe e
EAMM Iauh Feht’ 7 Sfieiepren Sfces st 3Tgarer URig HRudTd 31T,

9) TR ?) I 3) AT ¢) T

The World Bank report titled ‘Climate Investment Opportunities in India’s Cooling Sector’ was
released at the India Climate and Development Partners’ Meet organised in ...... in December
2022.

1) Maharashtra 2) Kerala 3) Tamil Nadu 4) Goa

MR-TRBRT T 31 FAHC o1 (IPCC) o TeATed I 3Te:

q9) ~>ih ) T 3) ua g) fifrer
The Headquarter of the Intergovernmental Panel on Climate Change (IPCC) is located in :
1) New York 2) Prague 3) Paris 4) Geneva

TE 9 71 & JEURISITS! Sugeh U : uRFRART, Sia-fafdear anfor gamm aga / yy
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93) Wieflad! PR fJa™ sRER 3 ?

13)

9%)

14)

a) T AT Teh STRRIEIT IRR 37Te, SATAT el Pre SRI—FATSS SN FoR g A IS Bt
RO AR,

b) IRT T Al Jadg ATl

¢) SN doE™ are BT axor @ dRilel i o8t 3TTe.

Tt SR :

9) (a) 3T (b) Bk~ ?) (b) M (c) Bh  3) (a) 3T (¢) b~ &) a7 &F

Which of the following statements are true ?

a) The Kyoto Protocol is an international agreement that aimed to reduce carbon dioxide and
other green house gases emission.

b) India is not committed to Kyoto Protocol.

¢) Kyoto Protocol aims to control global warming.

Answer Option :
1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) All of the above

GTefeidht PIvre faem= /A aHe =R+ genefl Jefera ame/3med ?

a) PRI &R ASUTT TR Fepred! L fEaresane Heye SMene g A9 aTTarumre
GTeTed] ORI AT A,

b) TR g TR AU A g IR Afed 371g.

¢) ISR STeft S qred ST TR aTTaRvITea WieredT RN IuH J&l 2l fodgd .

d) feacstets, w4, BHfomitar (U.S.A.) I HoIRT, ST TSTRINGST SR IARTER M@ .
IR SR :

9) Pass faem (a) 31T (b) Q) g fIgm (c) 3mfr (d)

3) bae fur (d) %) faEm (a) (b) (c) 37T (d)

Which of the following statement/s are associated with the phenomenon of temperature inversion?

a) In morning especially during winters, in lower strata of atmosphere, pollution-base fogs are of
common occurences in smoke releasing factory cities.

b) Over polar regions the temperature inversion is a common feature all the year around.

c¢) The temperature is found to increase with elevation in the lower strata of atmosphere.

d) The orchards in Switzerland, France, California (U.S.A) are found on the slope of hills rather
than on valley floors.

Answer Option :

1) Only statement (a) and (b) 2) Only statement (c) and (d)

3) Only statement (d) 4) Statements (a) (b) (c) and (d)

TE § g ¢ & GAURISRITS! Sugeh Teug : uRFRufrdY, Sta-fafdear snfor gamm aqat / yg
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Teiierde! @ivr aftfd / acla gRae aRom ammea ?

a) STATfcie IOH a1 b) FHGAT UTdaId aT@

¢) AT JIRFATER aRoms d) orcftar aRomm

i S :

q) (a) ST (b) ?) (c) fer (d) 3) (b) 37T (c) 8) aietidht T
Which of the followings are the impacts of enhanced greenhouse effect ?

a) Global temperature increase b) Rise in sea level.

c¢) Effects on human health d) Effects on Agriculture.

Answer Options :

1) (a) and (b) 2) (c) and (d)

3) (b) and (¢) 4) All of the above

STgHRT, UIUIGIc & SIORIOH, §aFHN ST gard ekl gt ofiftr aRewen e
IRIRY PHRIHA AN ... qob BIOR IRl gRome &t awam Aciar,

q) ST AOHMAIG  R) 51D 3) AWM G Q) FH goraH

The adverse impact of ...... can be reduced by implementing programmes like water harvesting,

watershed management, climate smart agriculture and ecosystems management.
1) global warming 2) famine 3) climate change 4) less rainfall

eIl PIUAT FGTHD A &R HHT 8 gl 2

9) CFCs Q) CO, 3) Halons g) HCFCs
Which of the following compounds does NOT cause ozone layer depletion ?
1) CFCs 2) CO, 3) Halons 4) HCFCs

FINC! MICIhIcTHE TG PRIV STaedddage] ST aIGquTed TRUITHT v FHehe T ST
3Tt ?

9) Stafafqerr Q) e ofeT 3) SR ) SMITT I AT
Which concept came into existence as a result of increasing awareness about the need for pollution
control which was formalized in the Kyoto Protocol ?

1) Biodiversity 2) Carbon trading

3) Ecotourism 4) Sustainable Forest Management

R—-ARPRI UHieT 311 Feie °of (IPCC) g Th SISl STCRATIDIT FRT JATg ATl FITHT:
q) SFTfcrp gam™ e (WMO)

R) | WF (UN) i1 STFTieres gam= Feem (WMO)

3) T Y A Hreg-e 3M Ferme oo (UNFCCC)

g) STRTfce M FEeA(WMOQ) 371foT Hgeh 1Y Gaferur Hrishd (UNEP)

Intergovernmental Panel on Climate Change (IPCC) is a scientific intergovernmental body set up by :
1) World Metegrological Organization (WMO)

2) United Nations (UN) and World Meteorological Organization (WMO)

3) United Nations Framework Convention on Climate Change (UNFCCC)

4) World Meteorological Organization (WMOQ) and the United Nations Environmental
Programme (UNEP)

TE 9 71 & GEURISITS! Sugeh U : uRFRARY, Sia-fafderar snfor gamm aga / Yo
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R0) SflaTen SRR ORI ¥ SRS DU GUNUITH SA0Tw ?

A 3 U4 B. 3= T C. w5 gamH D. 9RaR Ybgch gaMM
ENCECA AN CIPIE VAR CI S ICNE Ry Y
9) A Wh ) A 37T B %ch 3) A, B amforD g) A, B amfor C
20) High rate of consumption of fossil fuel resulted in which effects ?
A.Acid rain

B. Ozone depletion

C. Clean weather

D. Frequent foggy weather

Which of the statement given above is/are correct ?

1) Aonly 2) Aand B only 3)A,Band D 4)A,Band C

29) gRag uRRumd rgurel HR 2 AUHM SGeN DIV BIRU IRUMHGRS 3ed 2
A. g ERATEME ARV WRarft $ 3MEBUIRT Udh digHale THTa 318,
B. ERATEG I Teh TRT GUTBIAT UTeh hosed] PR ScAIes ARG IR,
C. aefiarse qrmd Iwresfede awdcdt arefdvaradt gRaTerT aoR BT S,
D. gReTE RO < SIER
TR PIvRt fae /e sRIeR amead ?
9) A Wh ) A 371 B %ch 3) A, B amforD g) A, B,C amforD
21) Whatis green house effect ? And what are the reasons for climate change ?
A. It1s warming effect found in green house by allowing solar radiation to pass in.
B. Green house warm up is similar to the inside of car parked in the sun for an hour.
C. Green houses are used for growing tropical plants in temperate areas.
D. Green house effects causes warmer nights.

Which of the statement given is/are correct ?
1) Aonly (2) A and B only 3)A,Band D 4)A.B,Cand D

Q) I FIT WSS DU g SRR M ?

37) AT yeiier Q& dHad TR,

§) 9R¢Y e AN RIS oo Useamd T ST,

%) 9¢ AR g SANNID SSIH [Ga¥T TG HORT Besl ST,

) 9R¢] TN 3NN &IRT PHRUMY AR ATRIER ) BTN 3T,

i SR :

9) Fh F IS Q) Fh g, HIMIS  3)Fh A, AMNS Q) RS
22) Inrelation to Ozone which statements are true ?

A. Ozone is called protection shield of the Earth.

B. In 1985 it was clear that Ozone layer has holes.

C. 16 th September is celebrated as World Ozone Day.

D. In 1989 chemicals responsible for Ozone depletion are banned to utilize

Answer Options :
1)Only A,Band C 2)Only B,Cand D 3)Only A,Cand D 4) All the above

TE § 9 T1C & JAURISITS! Sugeh MU : uRFRufrdY, Sta-fafdear snfér gamm aqa / yc¢
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AT dT6 Sed e Sardiel argd! fgTeaeT:

q) area 2) @t B 3) DT @I Gl ) T aTek AT ek A @i
With the increase in temperature, the solubility of gases in a liquid:

1) increases 2) decreases 3)is not affecte  4)first increases and then decreases

GTSIGUD! DIV dTRT aRIeR Mg /T ?

a) H'grh Y §IMM 8 el 9SG (The United Nation Framework Convention on Climate
Change) o TomueT K3l & STRT A< A

b) STRARIDIT g d6 U5 (The Intergovernmental Panel on Climate Change) =t o=
fifregr, fRaede A9 9R¢¢ & A

¢) TIRT (Green peace) o TTUAT 909 HEY FHeT A ST,

d) STrTfies gam AereT (World Meteorological Organisation) @ RITGHT 9840 Hedt Riferegt fyestefs
9 ST,

iR S
9) &F (a) T (c) TR 2) Wk (b) 3T (d) SRR
3) 94 fau™ aRIsR 3R 8) (a),(b),(c) Fh RIS 3T

Which of the following sentences is/are correct?

a) The United Nations Framework Convention on Climate Change (UNFCCC) was established in
Rio de Janeiro.

b) The Intergovernmental Panel on Climate Change (IPCC) was established in Geneva, Switzerland
in 1988.

¢) Greenpeace was founded in Canada in 1971.

d) The World Meteorological Organization (WMO) was established in 1950 in Geneva,
Switzerland.

Answer options :

1) Only (a) and (c) are correct 2) Only (b) and (d) are correct

3) All the statements are correct 4) Only (a), (b), (c) are correct

T IS TCIuITS & MSATATS! TehT Q2T TN &IR0T FEUT AT Juied] AT dHicdld S8 IR

AT FROITE fIaR R 3Te. AR Higwaid oAR] dheledl S8 PRIges Uglered g fesieredn S Sieted

30% dIEH TSraTerdhil ST T URIET HUI IR g DRal AT g, Jeired] 39 GXes

IeRATGHIT HUT=IT STTqT AegenIc! e el Aie-aiaRgy SR aemaeii<h Gl aid 3Mg. S8 PRI

atfereelt aTe & W P AT XA BRUT Grfar SFIOITe MEreaT fhAdia ST 7grmsd are s,

TEU AR §8 IR aTeduaTe ERUl SHAATT 37U T,

Rt fharuicd Terde géie waraigy Faer,

9) et Raerar gRumT HRUAMIET BT SAo HH! PROITH TR HHT FEward! 31T,

Q) SETAT BR AlGHT At AT areRIdel a¥cqea fopciiar RO 9Ra 3Ted ST @1 SHt ez
qTfRoteT,

3) BT I FH! RO § I $UF PR THHT AT TR,

8) YT IR aerdT [ YRagT I IaIRITeR dTse oM glsa.

TE § 9 T1C & JAURISITS! Sugeh MU : uRFRufrdY, Sta-fafdear snfér gamma aqa / 4
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A country's government plans to introduce a fuel tax later this year as a strategy to meet carbon

emission reduction targets. Motorists and road transport companies are suffering due to the 30%

hike in petrol and diesel prices due to the fuel tax imposed in the past months. The government

has been making millions of silver for the past six months due to the excess revenue from oil

reserves due to high oil prices. A further increase in fuel tax will be a burden on all households as

the cost of daily living will increase and inflation will increase. Therefore, the government should

not implement the policy of increasing fuel tax.

Select the hypothesis behind the above argument from the following options.

1) The need to reduce carbon emissions is less important than the impact on people's pockets.

2) Very high fuel prices are affecting the prices of daily consumption goods and should be brought
down.

3) Reducing carbon emissions is the only justification for higher fuel taxes.

4) Increase in fuel taxes will adversely affect the business of road transport companies.

IR GaATAHLTE IR HERTY IS eHia dhosedl el (el Hiord /vt fem / fem
qT 3mRd ?
31) PIpUT, FEI-HERTY, TNISATST T fagyf 3RT TERIFT IR gam= SUfIHTT 37,

) TRHUT TN ISR DIBUTT QY T g fIGHld ¢¢ T Ued ohcd—HIRTHT Shgqred e,

%) TRV dTSep Goi-gHHTIeD HEF-HERIEI ST HRISATSTT AR ¢3 Tk TS ~1ohed —HIRIHT SBHed
EESIS

$) TRV 1ftich GSigHITIh! HEd-HERTEIC 0T ARISATSAT FAR Y T UISd -1 —HIFHT SBHed
EESIS

RISt DI fae /fRgm I 3ma ?

9) 3 Feh Q)31 30T § Hch 3) .31, 9 37 & ®) 31, § 37fUr g

Which of the following is/are the correct statement(s) of Indian Meteorological Department

regarding the State of Maharashtra ?

a. Maharashtra has four climatic subdivisions namely ; Konkan, Madhya-Maharashtra, Marathwada
and Vidarbha

b. Konkan receives 95 percent and Vidarbha 88 percent of annual total rainfall during the south-
west monsoon period

c. Madhya-Maharashtra and Marathwada receive around 83 percent of annual total rainfall during
the south-west monsoon season.

d. Madhya-Maharashtra and Marathwada receive around 75 percent of annual total rainfall during
the south-west monsoon season.

Which of the statements given above is/are correct ?

1) aonly 2)aand b only 3)a,bandc 4)a,bandd

e § 9 7TE F JAURISRITS! SUY HewuE : uRFRRAH, Sta-fafderar anfor gamm aga / €0
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§) TGYUT — 4T, UTUR, A, &at. PeRT SIawITas, S S

........... I BRI IRIGITAR HERTY JGuU FRI=07 Hewrl FAToT FIo.
(TguuT Hfcrsre JTfor f7=07) ST, aQus

) S
R) HERTY STIvGyUl fcideds Braal, 93&%
3) 9 (<) erfrfm, 9’

¥) HRRTE gaT UguuT wfcse i drigr, acos
Mabharashtra Pollution Control Board is established under the provision of Act.
1) Water (Prevention and Control of Pollution) Act, 1974
2) Maharashtra Prevention of Water Pollution Act, 1969
3) Water (Cess) Act, 1977
4) Maharashtra Prevention of Air Pollution Act, 1874

ORI UISTel RAUIRAST STeT ST JUshH ... HEJ GRo RO AT,

9) JMRT 09¢ Q) JAFRT 09 3) TflieT 2020 8) Uftre 09¢
Jal Jeevan Mission envisaged to provide adequate safe drinking water was launched in
1) August 2018 2) August 2019 3) April 2020 4) April 2018

TTel! feiedT YRR SUESKd e It auaR AT SISl ol

wWY-1 (ares) wY-1I (a)
a) g589 i) 2021

b) frer i) 2014

c) dih iii) 2019

d) Bt iv) 2012
gy SR :

(@ (b (© (@
D@ @) @Gv) (ii)
2) @i @Gv) () (@)
3) Gy @ av) (iD)
4) G Gv) @) (D)
Match the following Indian sub-continental stroms according to their year of origin.
Column-I (Stroms)  Column-II (Years)

a) Hudhud 1) 2021

b) Nilam i1) 2014
c) Tauktae 111) 2019
d) Fani iv) 2012

Answer Options :

@ (b () @
1) () (@Gi) (@(v) (1ii)
2) (i) (@(v) (i) (1)
3) (i) () (@Gv) (i)
4) (i) (@(v) () (i)

Te g 9 7T & GURISNITS! Sugeh Mewg : uRRARA, Sa-fafderar anfor gamm aga / €9
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wefel fem uer.
a) HERTY TGEU R0 HSwr! FATIAT 9 FCaR 4860 ISi FTe!.
b) #rsft TGERT AR HERTY UGUUT 50T HSRIGR letdel ST,

g ST :
q) g (a) R MR R) RE™ (b) R 3
3) e (a) 37T (b) RIS 3fRa 8) e (a) 7T (b) SRR AR

Observe the following statements :

a) Maharashtra Pollution Control Board was established on 7th September, 1970.

b) Majhi Vasundhara Abhiyan is run by Maharashtra Pollution Control Board.

Answer Option :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (a) and (b) are correct 4) Statement (a) and (b) are not correct

-eret ffesT @rs, 2098 TAR, GF avlgT 3ifee =1 5o SHRANIS!, fhAT wepar

TR SeEaee 3o SRR dhoa urfgor.
q) R T AR R) R A wfg=it
3) SRat 8) &R Afe-Tel

As per the National Building Code, 2016, for high rise buildings more than two years old, fire
evacuation drills shall be conducted, at least once
1) every six months 2) every three months
3) every year 4) every month

uroft BRI, 9%W9% T FHH ¢ TR AR HeaaR, TAdh He@M! b Thal 6% aleel.

q) 3 Hfe R) & Al 3) R ARA 8) 9 A

As prescribed by Section 8 of the Water Act, 1974, a board shall meet at least once in every

1) 3 months 2) 6 months 3) 12 months 4) 1 month

IS I TE Ty M TehaT Hee ST TR agRITS! I arce 31eT
Ufhrd OTe e,

q) T Iy R) W@ Afg 3) o Al 8) Tep HfgT

The State Crisis Group shall meet at least once in and follow such procedure for
transaction of business as it deems fit.

1) one year 2) six months 3) three months 4) one month

TERIY Yaed! R 9R€3 JUR, TS SREMII] SIRAMEY, de] USUarl AN 3R SRar &l
oTcaTaRIe] AT fhH UepToRid Qe Yarar 3R e SR AT,
9) Y40 Hiex Q) €0 Hiex 3) 30 Hiex ) 9y HIcR

As per Maharashtra Factories Rules 1963, in every factory building, the exit shall be so located
that the travel distance to reach at least one of them on the floor shall not exceed

1) 50 metres 2) 60 metres 3) 30 metres 4) 15 metres

Te 9 9 7T & QUSRI Suge Uewg : uRFRARIS, Sa-fafderar anfor gamm agar / €2
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ugfor™ R 200% AR, GIBRRIS &3 FffeRul, SR T I Saereiiel arg fhar arsq | SRl

MR 3RIA TR ENBIGRID & & HHel e,

q) feramr '3’ Q) Hm R’ 3) \FT 9’ 8) 9T "0’

As per Petroleum Rules 2002, classification of hazardous area, a hazardous area shall be deemed
to be area, if inflammable gas or vapours are expected to be continuously present in
the area.

1) Division ‘3’ 2) Division 2’ 3) Division ‘1’ 4) Division ‘0’

IRA ARG A et 039 T@T QaTiiel Jhurar SiigRT SA&fd e TRArdT Yol a=TeRu ......
- TTTIe (STFE) IRAS A G Ao MO HeeMRId Teeer FHIAE giar) dTomed] disred]

1) €4% ) Y% 3) 80% 8) 30%

According to government of India considering the recorded history of earthquakes in the country
upto July 2021, a total of approximately ................ of the landmass of India (covering all states
and union territories of India) is prone to earthquakes of different intensities.

1) 65% 2) 59% 3) 40% 4) 30%

S TR Fees (WHO) 7 TTeficfidhl Pplordt 9aiaRuy TR feeHT fdhid defl 3mg ?
(a) Tgh I 31 S7fOr el FeeHAT (FAO)-—(b) wgfaRun 311y & F3merr (MOEF)

(c) TR ggfeRor ferep sHfemfeeg (HELI) (d) STrTfcres Fewf Saei HereT (TUCN)
gl SR :

9) b (b) ?) (a) 31T (b) 3) &b (c) ) oIt |G SRS
Which of the following environmental health organizations has been developed by the World
Health Organization (WHO) ?

(a) Food and Agriculture Organization of the United Nations (FAO)

(b) The Ministry Of Environment and Forest (MOEF)

(c) Health Environment Link Initiative (HELD

(d) International Union for Conservation of Nature (IUCN)

Answer options :
1) Only (b) 2) (a) and (b) 3) Only (c) 4) all are correct

oY SO IR UTTRIRUM HERTY 19 31O SIaRATI AT 09 TIR hell gl o I
LTI WO qe DHRIBRI JAfIBRI DU Bl ?
q) =i, RaR™ g ) S o . s 3) ot T afm 8) wied A

Who was the Chief Executive Officer of State Disaster Management Authority when Maharashtra
state Disaster Management Plan 2016 was prepared ?
1) Sitaram Kunte 2)J. P. Dange 3) Swadheen Kshatriya 4) None of the above
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ARATS *'IERT 3IGT Yeie WaRuma’” A ............ T,

q) WRATS TeHAT Q) WRANT AR&or HfY

3) YRA Yaue™ Q) AR AMIG =R FARITD dee 53l
"The National Disaster Management Authority" in India is headed by the ..............

1) Home Minister of India 2) Defence Minister of India

3). Prime Minister of India 4) Cabinet Minister, Ministry of Social Justice of India

=9 1 9 e ol Fafea qaRgaT Sum=T g H¥el Jed @ w11 7t fafde wafifer smodh
fSoledT amgd. &4 1 g 11 9& IRg Siisdn e,
Wyl (bsawwRm) wu I (A<fie o)

a) IMD i) =g

b) CWC ii) IS ST efs e
¢)GSI i) ®

d)INCOIS iv) TgER
Rt S :

@ () (¢ (@@
) G () 3i) @Gv)
2) () (i) Gv) (i)
3) (i) @Gi) (v) @G)
4) () (@(v) (i) (i)

In column I nodal agencies for early warning of natural disasters are given and in column II natural
disasters are given. Match the column I and II correctly.
Column I (Nodal Agencies) Column II (Natural Disasters)
a) IMD 1) Tsunami
b) CWC 11) Heat and cold waves
¢) GSI 111) Floods
d) INCOIS 1v) Landslides
Answer Options :
(@ (b (© (@
D Gy @ (i) @Gv)
2) (@ (@i) Gv) (1)
3) @) (@) Gv) @)
4)  ® Gv) (i) (i)
Tt pIordt faem /= sRIER 3me/d ?

a) XIS 3Tt uferTg (el g1 Snuxdt =reRemos drIgr 2004, B Y¢(R)(b) T AT el 3R,
b) 5T 3ot uferarg el areurr wy% et dg TRBR ST <.

¢) Il feramor el &1 Smuclt SRR BRIGT 2004, T B ¥E VHION ST Bl IR
R SR :

9) Heh [T (b) ) B e (a) 3) fqa™ (a) 31T (b)  ¥) &= (b) 37fr ()
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Which of the following statement/s is/are correct ?

a) The State Disaster Response Fund is constituted under section 58(2) (b) of the Disaster
Management Act, 2005.

b) The central government contributes 75% of State Disaster Response Fund allocation to the
states.

c¢) National Disaster Response Fund is constituted under section 46 of the Disaster Management
Act, 2005.

Answer Options :

1) Only statement (b) 2) Only statement (a)

3) Statement (a) and (b) 4) Statement (b) and (c)

TP RITRER ARl RIIfAwIs Aarauit SUMRT DI Q9T STl IfectT 99T §1eTT 37g ?
q) Ferer ?) IR 3) sealt 8) gad

Which country has become the first country in the world to mandate mandatory health warnings
on individual cigarettes ?

1) Canada 2) Russia 3) Italy 4) Kuwait
HERTEINS DI &R S dfeel AfCH Ch—Th MR TOIR 371g ?

1) W ?) TR 3) Tl 9T ¥) ST
Which city of Maharashtra is to become the country’s first septic tank-free city?
1) Pune 2) Nagpur 3) Navi Mumbai 4) Amravati
CICIGREEIERTE

a) Tt g9, AR, 3FRIed 39 furfi o< eravens &g aied. (RDMC)
b) FERTY AT ST favriier efoxdt eraeue &g 3fed.
¢) Rreer Sl e HTferpRumar 3reger NiegiRmr) SRl

I IR :
9) %eh [ (a) TRISR IR, Q) B AT (c) TSR IR,
3) faam (a) 3mfoT (c) SRR 3med g) faam (a), (b) 3T (c) TSR MR

Observe the following statements.

a) There are Regional Disaster Management Centres (RDMC) at Navi Mumbai, Solapur, Amravati.
b) There are ten Regional Disaster Management centres in Maharashtra.

¢) District Collector is the chairperson of District Disaster Management Authority.

Answer Options :

1) Only statement (a) is correct 2) Only statement (c) is correct

3) Statement (a) and (c¢) are correct 4) Statement (a), (b) and (c¢) are correct

STet (vguT wfcrde 3nfor forimer) sifeifRm, 9Quy aicrfa IR detedr ‘TaTE’ WA @Iatietidh! HIvTd
FHTAT ATE ?

9) TTat Q) siadsfy arft 3) afex BRf 8) Arareiel groft
‘Stream’ as defined under the Water (Prevention and Control of Pollution) Act, 1974 does NOT
include which of the following?

1) River 2) Inland water 3) Water course 4) Stagnant water

Te g 9 71 & QUSRI Sugeh Uewg : uRRARS, Sa-fafderar anfor gamm agar / &4



0)

20)

R9)

21)

R)

22)

23)

23)

W)

For Private Circulation Only

STt (STuUT Hfcraer SATOr fFRI0T) TR, 9R0% TT et Y e TRAG PeATAR, Ty Alaredfiih,
Heardl Weed, T AT ARUURIT aue] BRI IR 3R,

)R ?) 3 3) 4 8)

As provided under Section 5 of the Water (Prevention and Control of Pollution) Act, 1974, a

member of a board, other than a member secretary, shall hold office for a term of year/s from the
date of his nomination.

)2 2)3 3)5 4)1

T ST TeH Tl fSepToft A SroETar T Ue quf s Hidh-
feo1 TNt aRIar 3Mfor Rteer Ul TeTwhs 3rgaTer UTdaTa.

q) wfe ?) TR ¥ 3) W@ A g) <l Afe

The Local Crisis Group shall conduct at least one full scale mock-drill of a chemical accident at
a site every and forward a report to the District Crisis Group.

1) month 2) fifteen days 3) six months 4) three months

arg (VguuT wfcre @ R SRR, 9]¢ 9 iR ‘AR Iy’ FEUIST BIvITe! TcaRUTier SRt
q) ary, veref R) & UGy 3) Hef¥d 8) MR IS

‘Air pollution’ under the Air (Prevention and Control of Pollution) Act, 1981 means the presence
in the atmosphere of any

1) gaseous substance = 2) air pollutant 3) polluted particles =~ 4) polluted emission

IR (Vg Hfcey g f=0T) STfaIfFs, 9Q¢q =1 HeM ¢ IR, Iy ARBRA feetel Q2T el HewM
fetear fgemef o SRTeaNT, Wicfieltdhl Hivr qF g Uaur Aisde Siiget ?

9) YROT TITT FORIRITS g, IRBREBS TTode] ST,

Q) wferefter fFofa ifcr aRde.

3) T VORU Dol UGHUT TR HSRIGR Asdel ST,

) 3ifty fofa gages exdia,

Under Section 18 of the Air (Prevention and Control of Pollution) Act, 1981, if a direction given

by the State Government is inconsistent with the direction given by the Central Board, the matter
shall be resolved in which of the following ways?

1) The matter shall be referred to the Central Government for its decision.
2) The decision of Committee shall be final.

3) The matter shall be resolved by the Central Pollution Control Board.

4) The final decision shall be taken by the Prime Minister.

AR PTG, 9]¢ BT B 9% IR ISITEET VTG &1 o1 &1 aRy IGHUT RIFUT & Fgu hioT |iife
TE qD ?

q) Do gyl RIS Hees ?) g PR

3) ST IRBR AT HSDNA AGMHAT DR 8) I UGHUT {301 HSb
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Who can declare an area or areas within the state as air pollution control area under Section 19 of
the Air Act, 19817

1) The Central Pollution Control Board

2) The Central Government

3) The State Government after consultation with the State Board

4) The State Pollution Control Board

RY) T4 (VQyr Tfree onfdy f=wr) aifdifeem, 9”¢q TR Baanfiad UQeHed I HeRH JifRIBR HivT

25)

Q%)

26)

0)

27)

W)

28)

R)

29)

30)

30)

IR 31T PR UR dredie ?
9) DRI TT AT He R) I Hew w:
3) DGR QT oI Q) PG INDR

Who shall exercise the powers and perform the functions of a State Board in the Union Territories
as provided under THE AIR (PREVENTION AND CONTROL OF POLLUTION) ACT, 19817

1) Central Pollution Control Board 2) State Board itself

3) The governor of the union territory 4) Central govt

3pAcedT g fohRuleamie eyl | ogd, e

q) 7o ¥ - foRuiewt Q) difered - foRuNeRT 3) ot - foRuieE  8) g — fohRuneH
Nuclear reactors are significant sources of radiation, especially :

1) X-ray radiation 2) Positron radiation  3) o-radiation 4) Neutron radiation

1 - TG fHMIer I gl

q) fHemgd Uy 2) mercuric oxide  3) €T IR I NI EIES]

The high-level exposure to causes Minamata disease.

1) methyl mercury - 2) mercuric oxide 3) metallic mercury 4) mercury cyanide
TR DlcHTIeHd SaERo! 31Ted /STed:

9) wh DDT Q) ek foreH 3) Th USRICHIM 8) Sieict, fore amfir tekiehe
The example(s) of organochlorine pesticides is/are:

1) only DDT 2) only lindane

3) only endosulfan 4) DDT, lindane and endosulfan

SElIBIETNE| SR el S,

q) 3fepell TG ) (Rieq 3) &R 8) 9 g™
Saponification is done by .

1) alkali hydrolysis  2) acids 3) salts 4) base hydrolysis
QTeIeidh! PO e WGy g AT ?

9) MR Q) FAR 3) RIS 8) BRI AThISs
Which of the following gas does not cause pollution ?

1) Ammonia 2) Chlorine 3) Nitrogen 4) Hydrogen Sulphide
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GTeteTdehl DIV &R UG T YGIhRONG aTaRTd ?

q) Teor R) guITE el 3) faksren gof 8) Mo |rel
Which of the following Salt is used in refining of Petrol ?
1) Soap 2) Washing Soda 3) Bleaching Powder 4) Baking Soda

R aruaTeia ... T IS GeHtes SMOT Tl YHUT FHIVITeS ST gt giad.

9) @i Q) &R 3) gIRG o ) SRR

...... n irrigation water bring about changes in soil properties by their chem and total concentration.
1) Minerals 2) Salts 3) Cations 4) Anions

GTeficTidh! PIURT fIem sRIeR 377g ?

a) RraraTs! TRUTfeTe ATSUTOITET IR hed™ SR Suetey 37 3Mfor aig ST 80T @ievfiia are
g,

b) RIS TRUTfTdhT ATSUTIATET IR hed™ ST e (Cd) SHT gIuamd Seviiy are gid.

gt SR :

9) (a) e SRR &, ?) (b) RIE R 3.

3) Qe (a) AT (b) e SRR 3TTed. 8) IRIeTI! Tepgl fe sRIgR el

Which of the following statements is correct ?

a) Use of municipal waste water for irrigation leads to substantial increase in accumulation of
Zinc (Zn) and Copper (Cu) in soils

b) Use of municipal waste water for irrigation leads to substantial increase in accumulation of
Cadmium (Cd) in soils.

Answer Options :

1) (a) statement is correct 2) (b) statement is correct

3) Both (a) and (b) statements are correct 4) Neither of the above statement is correct

Tl PIvrd e /= sRieR 3mg/d ?

a) STl ATe GRaTT AR IRUINICT TRAR & Jafa Hgcard! deel 37T,

b) IR—TRPRT FLT AT FREAT SUHHRAC! 31 I Agward! ATeH SO,

i SR :

9) (a) 30T (b) Tl TR Ared R) () 3T (b) QIFel I e

3) (a) SRR 3R 3T (b) TP 3ME 8) (a) TP QMO (b) RIS 3R

Which of the following statement/s is/are correct ?

a) Governments are the most important institution in ensuring the human security of their people.
b) Non-Government Organizations bring a host of unique assets to human security initiatives
Answer Options :

1) Both (a) and (b) are correct 2) Both (a) and (b) are incorrect

3) (a) 1s correct and (b) is incorrect 4) (a) is incorrect and (b) is correct

Hasdlel €,/ 99 T SEITATG! Geed R QeaIdTe! PRIGRIAT faRTe HRUIRITS! DO Ggerdara; foRret
TIhTd! FATIAT PRUAT 3Tl 2
9) BRE g Q) T8 3) URA-TH RIS
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In Mumbai to counter terror activities which anti terror unit has been formed after the 26/11
terror attack ?
1) Force one 2) Garud 3) Paras-F 4) Ghatak

GTefieidht Pivrt AFaET smxiier Sgrevor ATt ?

q) TRerETE! BegT R) g 3) et vt ¥) cleorer &g
Which of the following is NOT an example of a human-made disaster?

1) Terrorist attack 2)Tsunamis 3)Oil spill 4) Locust attack
NDRF =i

9) IFRT 3yt fFrawor fyeft Q) I Ul mfcrRag fereft

3) IE IMU RIS Gt Q) JHT O FaRT g

NDREF stands for :

1) National Disaster Relief Fund 2) National Disaster Response Fund

3) National Disaster Response Force 4) National Disaster Relief Force

3ol eI A e fyare,

9) TR — TfcRrg — Ao — o Q) I — UG — YU — qRUTHBReA

3) Aifeelt — ufcrIg — SIR —> 3o 8) 3fdet — Uf’g — GuiH — TR
Select the correct phases of disaster management.

1) Preparedness — Response — Recovery — Mitigation

2) Mitigation — Response — Recovery — Effectiveness

3) Information — Response — Solution — Adaptation

4) Adaptation — Response — Recovery — Preparedness

IoIfthdhereeel Qletietuds! PIvRt fIgM aRIER 37Ted / 3iled ?

31) UG HeHIAT Ui de

) Sifde ScgHdd a6

%) OINd TcH! Tt BHT gIor 3T Sifde Scargaddr areut

g) i Scurgepar Bt 80T 3T N T THT0T JTeul

IR g

9) wh (37) AT (3) Q) B (Q) 3) & () 8) T (37) AT ()
Which of the following statements is/are correct about eutrophication ?
a) An increase in nutrient levels

b) An increase in biological productivity

c¢) Decrease in nutrient levels and increase in biological productivity

d) Decrease in biological productivity and increase in nutrient levels
Answer options :

1) Only (c) and (d) 2) Only (2) 3) Only(b) 4) Only (a) and (b)

e 9 g 1C & GAURISITS! Sugeh Teug : uRFRufrdY, Sta-fafdear snfor gamm aqat / €%
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HicT YIRS STTETTHT AHR STOIRITS! 31T Ao IRTRIfG ST IaiesvaRITa! dosl AFfee

UG RO RISEIERG DI

9) ol PRI I4 2) R HERW U

3) fSfegr U T Q) FeqTfen MUl T

The shall be the apex body to deal with major chemical accidents and to provide
expert guidance for handling major chemical accidents.

1) Central Crisis Group 2) State Crisis Group

3) District Crisis Group 4) Local Crisis Group

SITE JMHE FefiT MiETae!, Hifie e S =T B ST ST 39T T
30T HTEr STNTHE <TG ETRAT.

q) TERISY &b R) PRGN Me AR

3) TP USq 8) TP &h

For machine guarding in many industries, Physical guards are replaced by which
are preventing accidents and also improving production in some industries.

1) adjustable guards 2) no guards

3) light curtains 4) plastic guards

U7 s JReT GRS Ueh Fai dafei aisis AOPD 312, ST S1TtRCRel giarare fogean SrTat s/ae
FRUIRT AT odf, IR Sl SUIGehall A&UIIRIT ER 37O STTINCIed] G@TU SM0T ofhdT T
PRl A AOPD =eURT .
9) FeRmEfeTT Sfffeeder AREvT feasT Q) AfhT MTeeI-SIaIFd HAREUICHD SUDBRIT

3) wff 3ferse wiey I ) Ot arfelt FRemHS e

A new technology for Press brake safety options is the laser AOPD, which allows the operator to
work within very close proximity of the point of hazard, significantly improves the productivity
of the press brake and reduces operator injuries and fatigue. Here AOPD means
1) Automatic Optical Protection Design ~ 2) Active Opto-electronic Protective Device
3) Alternative Online Prevention Device  4) Alternate Ortho Protective Design

I Uh PR TEUNT AoR IffRAsc geIed SECIidMl R AT 3Tt —JTSe
3T TISHT TIR PROINTC! TIR Poiedl Td ST—W18C JATIThI Ao TARIGeAD T,

9) SorT PRIRN I4 2) R HERN 0

3) TA® MY Te ) fTegr ot Te

One of the function of the is to review all the on-site emergency plans prepared
by the occupier of Major Accident Hazards installation for the preparation of their off-site
emergency plan.

1) Central Crisis Group 2) State Crisis Group

3) Local Crisis Group 4) District Crisis Group
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COSHH g ITce fhremeia wh a0 oy, ST SHamiaR aae uerf SR Craudrrd!,
HRATHS AATTH TG0 ARTGel el FeUd awdie] aTuRel ST 371t COSHH wgurst
9) A TR el R Q) IR et MR FoiaT TGl oof
3) JIRFIATS =T ugrer} dreseit Y STRRITATS! ©Tae ugrerfe R

COSHH is aregulation in the United Kingdom, to prevent the ill effects of hazardous substances
on employees, also used as a guideline for best practices in India and COSHH means

1) Control of Standard Health Hazard

2) Consulting Operational Surgeon on Health Hazard

3) Care of Substances Hazardous to Health

4) Control of Substances Hazardous to Health

T 3wl S PRI et Siclier amfor ALARP He) 31viel! STt 3mfor ALARP =i
q) IR WieTedT IfeErar g e 3gR) FsR TS e Mideaaed maer o

3) grordgor @agRf fordd wHt %) RRIR T foad ot
The risks at workplace shall be controlled and brought down to ALARP, and ALARP means:
1) Actual Lower Aim Result Possible 2) Access Lower Aid Request Practice

3) As Low As Reasonably Practicable 4) As Less As Really Possible

OHS SRishH, GRS, SHASSTauiT 0T FedHT= FRUITATS! PHIHTT JIdTaRvNier g ST
HITTRIET RIS ATfEct 3Taeaes Mg STOT BRI TR Riemume Hiorre! g emeor
30T BT ATGR BRI RIIT Jedich-T HRudTat Ufshal FHIAE 3lg, ST Wrefierden! Hama

AT IR STendll ?

9) S e Q) JerhT uter

3) geTaet 8) fSNeoidmer oem

) W §) PRI IR AlGd. JiREeD
IR SR :

9) Beh 9, R, 3 ;MY R) Wh R, 3, 8 3T Y

3) Weh 9, R, 3, ¥ Mg ) Beh R, 3, ¢ M &

Information about conditions in the working environment and the health of workers is necessary
for planning, implementing and evaluating OH&S programmes, policies, and worker’s health
surveillance involves procedures for the assessment of worker’s health by means of detection
and identification of any abnormalities, and may include which of the following?

1) Biological monitoring 2. Medical examinations

3) Questionnaires 4. Radiological examinations

5) Ergonomics 6. Reviews of worker’s health records
Answer Options :

1)Only 1,2,3 and 5 2)Only 2,3,4and 5

3)Only 1,2,3,4and 6 4)Only 2, 3,4 and 6
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IR HIER argd R, 9%¢] TR, HIeTgddial Aleid, DIUTel SIbIGRID fhdl SihiGrRIc HTetr

e B SRAAHT, I e dEID Ppoled] DIURATE GIbIGRID fhal eI HIetrdT JTTerd

eI, SAIOT @RI Pesard. SETaTed o e,

9) Saesd T dhg; STacsd Ut T

Q) HIcTaTgehral HicTdh; dTgdd HRUIRI

3) STad Uici 1, ATclaTederdl ATeld fohal AT o]

8) AEIHR; SIS BRR T

As per the Central Motor Vehicle Rules, 1989, the driver of a goods carriage, transporting any

dangerous or hazardous goods shall, on the occurrence of an accident involving any dangerous or

hazardous goods transported by this carriage, report forthwith to the and inform
regarding the accident.

1) nearest fire station; the nearest police station

2) owner of the goods carriage; the transporter

3) nearest police station; the owner of the goods carriage or the transporter

4) transporter; the nearest Fire station

Grefledh! PIvRT I SFRIT S TR IT0aTmT GREIUSEe e ATal ?

q) snface feren foqey TaR BIoT=T e UToam HaTerge URifthe HeRIFRIT arded TRTe
&TRAT TR AN Jaiid P! 37Te.

Q) Ircerfed HERIFRICGT Fafferes &TRaT 94°—20° 37&lieT SR Aigdel! ST,

3) TSR Me AR Yalg 3R STe fied srfea™ fid! TerIFRIceT STTefed SUFRI, IRe!
G Joid BHY &R 3TTR.

) 21 WRe goff ¥ SUT: HH WRSIUN 3RTeiedT UT0TeR i 3R,

Which of the following statements is NOT true about the salinity in ocean waters across the
globe?

1) The salinity in the north-western parts of Pacific Ocean is lesser as compared to its other
parts due to influx of fresh water from melting arctic glaciers.

2) The highest salinity in Atlantic Ocean is recorded between 15°-20° latitudes.

3) InIndian Ocean, the Bay of Bengal has lower salinity as compared to the Arabian sea because
of higher influx of fresh river water.

4) Vertically, the higher salinity water rests above the lower salinity dense water.
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ST - 3) §IMHE g5 ()
Y) TS i - gRaTe gRumHMed Weiig smfor fAdm=h i

-9 R-Y 3-9 89 4-% &—% v-% ¢-R R-R 90-19
99-R QR-9 33-3 98- 94-39 9%-3 Q9-3 Q- R-Y R0-3
R9-% RR-Y R3I-R R8-3 49 R&-3

&) TGHUT — 4T, UIUN, A, &t FeRT IaTaH, ST SU

- =R 3-9 8-3 4-9 %=1 V-3 -3 R-% 90-R
199-3 9-3 13-3 98-3 W= 9%—9 V-3 ®K-8 R-Y R0-3
R9-3 =R R3-9 R8-3 49 R&—8 RV-2 R~ RR-9 30-3
39-R 3R-R 33-3 38-19 34-9 3&=R 30-3 3¢9 3R-% 80—-19
89-3 8- 83-9 88-¥ 84-3 8&—3 89-3 8C—%
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